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QUESTION 1

A customer has a solution from another vendor. The customer ran into issues of a disproportionally high failure rate of
media keeping logdfile data. The issue also appeared in the second array, to which the data is being replicated. The
customer specifically asks you for a solution that will not have this same issue. Which feature of HPE 3PAR arrays
should you emphasize?

A. creating snapshots on different physical disks

B. wide striping data across controllers and disks

C. ASIC accelerated thin provisioning

D. inline compression and data packing

Correct Answer: D

QUESTION 2

A customer wants an HPE 3PAR array with about 400,000 IOPS and over 6000 MBs per second through ?put at 16K
block size. What should you consider in your design?

A. Focus the configuration on the effective capacity ratio rather than data reduction ratio

B. Adhere to the initiators per port, initiators per system, and fan-in/fan-out limits in SPOCK
C. Configure the HA-enclosure to protect against enclosure failure

D. Ensure that the write 10 service time on the array is under 2ms

Correct Answer: A

QUESTION 3

A customer has two HPE 3PAR arrays which are using Remote Copy and AO. The customer notices a large portion of
the data is residing in the NL tier of the secondary array, while all tiers are utilized evenly on the primary array. Which
statement about the secondary array behavior is true?

A. The NL CPG in the secondary array is larger

B. This is normal behavior for AO

C. There is an improper AO configuration on the secondary array

D. AO should not be used with Remote Copy configurations

Correct Answer: B

QUESTION 4
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Refer to the Exhibit.

Volume Collection: vc-ms-fileserver Actions -
RECOVERY POINT REPLICATION PARTNER MEMBERS SNAPSHOT RETENTION
2017-06-12 16:12 2017-06-12 16:10 gr-dr-arrays 1 102 92
Local Remote Villries Local Remote

SCHEDULES | VOLUMES | SNAPSHOT COLLECTIONS :

CLONE SET ONLINE SET OFFLINE EVENTS A_"
SNAPSHOT COLLECTION SNAPSHOT TIME W REPLICATED —

ve-ms-fileserver-2mins-2017-06-12::16:12:0 2017-06-12 16:12 In Progress

SCHEDULE Two-minute-schedule

youns Hlesepver2mios 2017-08-12:16:10:0 2017-06-12 16:10 2017-06-12 16:11 "

SCHEDULE Two-minute-schedule

ve-ms-fileserver-2mins-2017-06-12::16:08:0
SCHEDULE Two-minute-schedule

2017-06-12 16:08 2017-06-12 16:09/

A customer with an existing HPE Nimble installation sends you the output shown. The administrator who initially set up
the replication has left the company. They ask you what the current RPO level for their replication is. How should you
respond?

A. They need to verify the RPO level from the host vc-ms-fileserver

B. They have an RPO of four minutes

C. They need to send a screenshot of the volumes tab

D. They have an RPO of two minutes

Correct Answer: B

QUESTION 5

An HPE Nimble customer needs to consolidate storage and scale performance. They are looking to purchase additional
hardware to meet these requirements. What is the best solution to offer this customer?

A. Add additional SSDs to the cache

B. Use multiple single-array storage pools
C. Add additional HBAs in the arrays

D. Use multi-array storage pools

Correct Answer: D
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